SkbrV BK

DM-lag IAF match 4

IMP o6ver féaltet, 10 bord, 20 par. Antal brickor: 12.

Plac Par Poédng Namn MID Klubb
1 4 2.22 Rolf Bengtsson - Adam Sarten 4614 41958 BK Lavec
2 18 1.65 Ronny Bengtzon - Lars Durlow 1107 6337  Malmd BK
3 13 1.14 Per-Inge Helmertz - Ronny Blomdahl 1322 4768  Kullabygdens BK
4 6 1.01 Jan-Erik Larsson - Mats Ellemark 593 18678 Hassleholms BK - Kristianstads BK
5 1 0.72 Johan Bennet - Anders Wirgren 93 4731  Malmo BK
6 19 0.43 Thomas Andersson - David Probert 15537 3990 Malmé BK
7 5 0.42 Johan Noberius - Mats Berggren 655 5549  BK Bridgehuset
7 12 0.42 Staffan Essén - Hakan Litsegard 5529 5536 LUCK
9 11 0.35 Hans Olsson - Bengt Palsson 13278 6272  Malmd BK
10 14 0.08 Christer Winther - Lars-Goran Niklasson 4583 11361 LUCK
11 7 -0.08 Mats Pettersson - Borje Dahlberg 5587 4744  BK Lavec - Malmd BK
12 10 -0.35 Jan Gutenwik - Peter Juhlin 6302 23716 LUCK
13 9 -0.42  Anders Freij - Bengt Emanuelsson 5548 4620 LUCK
13 16 -0.42 Kenneth Osterberg - Lars Gustafson 4700 1049  Hassleholms BK
15 2 -0.43  Michael Olsson - Klas Bellander 5768 4541  Videdals BK
16 20 -0.72 Osten Svantesson - Mats Holm 5765 4537  Videdals BK
17 15 -1.01 Eva-Liss Gothe - Hans Géthe 5285 9054  BK Bridgehuset
18 8 -1.14 Dan Nilsson - Tommy Kellander 5967 14354  Videdals BK - BK Zonen
19 3 -1.65 Simon Nilsson - Viktor Andréasson 85753 89902 Hoo6rs BK
20 17 -2.22 Jan Nilsson - UIf Bogren 4501 486 Ho6rs BK
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Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang
16 5 6vO-1 ¢A 100 114.0 -114.0|13 8 2v S-2 +6 -100 5.0 50| 417 24 O= 44 -110 4.0 -4.0
4 17 3NO= 46 -600 1.0 -1.0|14 7 24S-2 v9 -100 5.0 50|15 6 24 V= v4 -110 4.0 -4.0
20 1 3NV= 4] -600 1.0 -1.0(19 2 2vS-2 +¢6 -100 5.0 -50(16 5 24 O= &4 -110 4.0 -4.0
13 8 3NO+1 #4 -630 -7.0 70| 417 2¢ O+1 &T -110 5.0 50|19 2 24 O= &2 -110 4.0 -4.0
318 5v V= +¥3 -650 -17.0 17.0| 9 12 2¢ O+1 49 -110 5.0 -5.0|11 10 INO+1 ¥6 -120 4.0 -4.0
9 12 5v V= 5 -650 -17.0 17.0|11 10 2¢ O+1 &T -110 5.0 50(14 7 INO+1 2 -120 4.0 -4.0
11 10 4v V+1 &5 -650 -17.0 17.0|15 6 2¢ O+1 &T -110 5.0 5.0 3 18 24 O+1 3 -140 -6.0 6.0
14 7 49y O+1 3 -650 -17.0 17.0|16 5 2¢ O+1 &T -110 5.0 5.0 912 24 V+1 42 -140 -6.0 6.0
19 2 4v V+1 &) -650 -17.0 17.0|20 1 2¢ O+1 9 -110 5.0 -5.0(13 8 24 O+1 44 -140 -6.0 6.0
15 6 4v V+2 a5 -680 -240 24.0| 3 18 2vyDS-2 +6 -300 -45.0 45020 1 24 O+1 2 -140 -6.0 6.0
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#E7652 #D843 #K9854  #Kn76 #Kn106 #K43
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Par  Kontr ut Res Poang Par  Kontr ut Res Poéang Par  Kontr ut Res Poéang
318 2v S+2 &7 170 17.0 -17.0(15 6 2vDV-5 v2 1100 108.0 -108.0 |11 10 2v N-1 49 -100 16.0 -16.0
19 2 24 N+2 &5 170 170 -17.0|19 2 3NS+1 6 430 -12.0 120( 4 17 2NO= &2 -120 7.0 -7.0
4 17 29 N+1 #4 140 7.0 -7.0| 318 4vS= ¢J 420 -120 12013 8 INV+1 2 -120 7.0 -7.0
9 12 3vy S= #A 140 7.0 -7.0| 4 17 4vy N= &5 420 -120 12.0|20 1 INO+1 &2 -120 7.0 -7.0
11 10 2v N+1 #4 140 7.0 70| 9 12 4y N= &6 420 -12.0  12.0( 9 12 INV+2 44 -150 -2.0 2.0
16 5 2¢v S+1 &A 140 7.0 -7.0|11 10 4vy N= 47 420 -120 12014 7 INV+2 92 -150 -2.0 2.0
13 8 2¢v N= +3 110 -2.0 20(13 8 4vy N= ¢A 420 -120 12015 6 INV+2 #2 -150 -2.0 2.0
14 7 2¢»N= +8 110 -2.0 20(14 7 4vS= #8 420 -12.0 12.0(16 5 INV+2 #Q -150 -2.0 2.0
20 1 3&4V-1 vA 100 -3.0 3.0(16 5 4y N= ¢A 420 -120 12019 2 INV+3 2 -180 -11.0 11.0
15 6 3«V=vA -110 -55.0 55.0|20 1 4vS= ¢J 420 -120 12.0| 3 18 24S-2 ¢5 -200 -18.0 18.0
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Par  Kontr ut Res Poang Par  Kontr ut Res Poang Par  Kontr ut Res Poang
15 6 5#DS= 49 550 380 -380( 4 17 6vN= v6 1430 105.0 -105.0(13 8 44 N= &7 620 88.0 -88.0
4 17 4y N+1 «J 450 180 -180|16 5 6#N= &A 1370 94.0 -940( 9 12 5¢DO-3 #5 500 69.0 -69.0
11 10 4v N+1 «J 450 18.0 -18.0(| 9 12 3NS+3 &7 690 -21.0 21.0(11 10 24 N+2 45 170 -1.0 1.0
16 5 4vy N+1 «J 450 180 -180| 3 18 4v N+2 #2 680 -22.0 22016 5 3NO-3 #4 150 -8.0 8.0
13 8 4v N= «J 420 100 -10.0|13 8 4vy N+2 #6 680 -22.0 22019 2 INN+2 v6 150 -8.0 8.0
14 7 4vN= «J 420 100 -10.0|19 2 5¢v N+1 #2 680 -220 22.0| 3 18 34 N= 45 140 -8.0 8.0
318 3#S+1 43 130 -42.0 420(20 1 5vN+1 v3 680 -22.0 22014 7 INN+1 &7 120 -17.0 170
9 12 49y N-1 &) -50 -70.0 70.0{15 6 3NS+2 %8 660 -30.0 30.0|20 1 INN+1 &7 120 -17.0 170
19 2 A=/A= 0.0 0.0[11 10 4v N+1 #6 650 -30.0 30.0(15 6 4v V-1 v5 50 -33.0 33.0
20 1 A=/A= 0.0 00|14 7 5vN= #4 650 -30.0 300 4 17 44 N-1 vA -100 -65.0 65.0
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vE v K2 vKnl074 vKD vED v 102
¢ KD10 ¢ Kn872 ¢ 963 +D ¢ Kn9 + KD10875
#KDKn8432 #95 #1054 #EK732 «D432 +10
«E « D64 «D7
vD109753 v 8532 v 987654
¢ 9543 ¢ Kn1054 ¢ 643
«E10 #Kn6 #E5
Par  Kontr ut Res Poang Par  Kontr ut Res Poéng Par  Kontr ut Res Poéng
4 17 54DV-2 v5 500 97.0 -97.0| 4 17 44 V-1 ¢A 100 69.0 -69.0( 3 18 5v S+1 42 480 93.0 -93.0
13 8 5#40-2 v6 200 50.0 -500| 9 12 24 O+1 +¢J -140 170 -17.0|19 2 3NS+1 &6 430 83.0 -83.0
11 10 4+ V-1 v6 100 27.0 -27.0(14 7 24 V+1l +A -140 170 -17.0| 4 17 44 V-2 +¢A 100 26.0 -26.0
14 7 5#V-1 v6 100 27.0 -270(15 6 24 O+1 ¢J -140 170 -17.0|14 7 4e V-2 #9 100 26.0 -26.0
20 1 5«V-1 vJ 100 27.0 -27.0(19 2 24 O+1 &4 -140 170 -17.0|11 10 44 V-1 ¥K 50 150 -15.0
912 4vS-1 &K -50 -5.0 5011 10 34 O+1 J -170 90 90|13 8 44 V-1 ¥3 50 150 -15.0
19 2 4vS-1 #K -50 -5.0 50(13 8 24 O+2 48 -170 90 90| 9 12 5#N-2 &3 -100  -14.0 14.0
3 18 5vDS-2 42 -300 -53.0 53.0(20 1 34 O+1 5 -170 9.0 90|16 5 4e V+1l 4A -450 -75.0 75.0
15 6 5vDS-2 «Q -300 -53.0 53.0( 318 4e4V= ¢K -620 -82.0 82.0(20 1 44 V+1l «A -450 -75.0 75.0
16 5 54DV= v2 -750 -112.0 112.0(16 5 44 0= ¢J -620 -82.0 82.0(15 6 44DV= aA 590 -94.0 94.0
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